Jo

—_

N

=3

ol

B

™

—_

[ife]

_5.:._

o

o

Ho

,._._A.o

oy

il

s

0 o)

Gy

XN

o B

™ A

;o_l U._
J

mm oF

o @

1.

@)20 717

@ 10 7]

@ 9 714
@ 21 714

® 25 714




2. A, B, C, D, E9 590l it 3 S ol gt 22 Al$E= AL9

=9
@D 15 714 @ 30 714 ® 36 714
@®)60 714 ® 120 7}A]

5x4x3 =060 (7H)




by 5t olshy 590 TAE 2ol tE 2 WS Boeln
w o] 9-0] 59

Ol
sk

@D 16714 @ 207174 @ 25714
@ 35717 @) 15717
- 10x9
109 oA E 23S HE= AP0 5 =45 (7}A)




=
o]

4. o5 I 22 =YolA AE Edste]l WS wEk BE
7} gtk 7P A AR R 7HE BE A0 7 (W,
dol= )

A

J}L_\:
EQ

Q

D)127}A] @ 13714 ® 14714
@ 1574 ® 1674

AZo A QEZO R Tl= AZ q, oFHANA Z 7t AS b
o ot

A - B:671A

(a, a, b, b), (a, b, a, b), (a, b, b, a), (b, b, a, a), (b, a, b, a),

(b, a, a, b)
B - C:27H4
(a, b), (b, a)

JHEZ Fot= A9 = 6x2 = 12 (7HA])




5.

MEES N 22 a, b, c, d, e E R
Ao g2 YIS 0, cdeab = 2 HA ] T@olQl=] FL5HA?

B

4
rek
2
iy
rU
>
oo
rek
HY)
2,

@ 63 AA @ 64 A 3)65 WA
@ 66 HAA ® 67 AA

Od | T 1 1aA%%:b,c,d,e47l] BAE JB=
dot= FFolBERE 4x3x2x1 =24 (7h)

Op [ [ ] 190799 %: @ Zo] 24 7

©cd [ [ JAASA5:b,d,e37h9 225 42

UEste A-ol2=Z 3x2x 1 =6(7N)

@cf [ [ ]9A%d+:a,d, e37h9 225 4=
© o]l

Ugsts AolBR 3x2x 1 =6(7H)

@ cdd_]| |89 b, e2 M9 BAE YR VhdSH
ZdgolB® 2x 1 =2(7l)

@cd] | A9 5 a, e2 710 BAEALR st
A9olBE 2% 1 = 2(7H)

@9] T EAT} cdeab O|EE 24 + 24+ 6+ 6 + 2+ 2 = 64
AN A cdeab = 65 HA| 0] Trojolrt,




